| Tiniess

FFERBHARRS

http://www.itrenzheng.com




The safer , easier way to help you pass any IT exams.

Exam : 220-1101

Title CompTIA A+ Certification
Exam: Core 1

Version : DEMO

1/3



The safer , easier way to help you pass any IT exams.

1.A user sends a print job lo a network printer, and the print job uses double the amount of paper as
expected.

Which of the following should the user configure to get the expected result?

A. Duplex

B. Collate

C. Landscape

D. Transparency

Answer: A

Explanation:

The user should configure the print job to use the Duplex option, which will print on both sides of the
paper and reduce the amount of paper used.

2.A field technician has been dispatched to a site with an internet outage. Upon arriving, the technician
discovers that the POTS lines are not working as well.

Which of the following technologies is the site MOST likely using?

A. Fiber

B. Cable

C.DSL

D. Satellite

Answer: C

Explanation:

DSL (Digital Subscriber Line) uses POTS (Plain Old Telephone Service) lines to provide high-speed
internet access. If the POTS lines are not working, it could cause an internet outage for DSL customers.
Fiber and cable internet typically use different types of infrastructure, while satellite internet is not reliant
on POTS lines. References: CompTIA A+ Certification Exam: Core 1 - Page 231

3.A technician was called in to look at a user's PC. The user reported the PC was very sluggish. The
HDD light on the PC was constantly on without blinking. The PC itself was slow receiving input and took
a very long time to load the OS. The technician also noticed updates had failed.

Which of the following is MOST likely the cause of these issues?

A. The hard disk drivers have been corrupted

B. The HDD cables need reseating.

C. ARAID disk failed.

D. The HDD has no free space.

Answer: D

Explanation:

If a user’s PC is very sluggish, the HDD light on the PC is constantly on without blinking, the PC itself is
slow receiving input, and it takes a very long time to load the OS, the HDD has no free space is most
likely the cause of these issues. When the hard disk drive (HDD) has no free space, the computer may
become slow and unresponsive. The technician should check the amount of free space on the HDD and
delete any unnecessary files to free up space.

4. Which of the following options provides correct information about 2.4GHz and 5GHz wireless
frequencies? (Select TWO)
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A. 2.4GHz has less interference. 5GHz transmits inlower speed.

B. 2.4GHz penetrates solid objects more effectively. 5GHz provides faster data connections.

C. 2.4GHz has a higher data rate. 5GHz has 23 channels.

D. 2.4GHz has Il channels. 5GHz has no data interference.

E. 2.4GHz has a higher coverage area. 5GHz has higher bandwidth.

F. 2.4GHz has a higher bandwidth. 5GHz has lower transmit power.

Answer: B,E

Explanation:

The correct answers are B. 2.4GHz penetrates solid objects more effectively. 5GHz provides faster data
connections and E. 2.4GHz has a higher coverage area. 5GHz has higher bandwidth. The 2.4GHz
frequency has a lower data rate compared to 5GHz, but it can penetrate solid objects more effectively
and has a higher coverage area. The 5GHz frequency, on the other hand, provides faster data
connections and has higher bandwidth, but it has fewer channels and lower transmit power.

5.CORRECT TEXT

Which of the following is the PRIMARY security concern with virtual machine escape?

A. Cross-site scripting

B. Compromising the hypervisor

C. Overutilization of resources

D. Rogue virtual machines installed on the hypervisor

Answer: B

Explanation:

The primary security concern with virtual machine escape is compromising the hypervisor, which can
allow attackers to gain access to other virtual machines or the host system. Virtual machine escape
refers to an attack that allows a guest virtual machine to break out of its isolated environment and access
other parts of the system.
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